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3.  sin(90°-A) = - & o, tanA 9] Z& Fstodzt (T, 0° <A <90°)
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@ 1), @3 @ (-3.-2). (0. 0)
® (-2, 0), (0, 5) @ (2, 1), (3,-5)
® (-4, 4), (2,-2)

O V2-12+3B-1)2= 15

@ /(-3-0)2+(-2-0)2 = V13
® V(-2-0)2+(0-5)2 = V29
@ /(3-2)2+(-5-1)2= V37
® (-4-2)2+ (4+2)2= V72
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® sin0° @ cos30°
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8. T2 Iad2dx-V3y+3=0
o] Jjzolcy, oluf, 10 ©] A7|E A
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y= \/?§x+ V3
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(7127]) = tanf ©| B2 tanf = \/?§’
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@ A(1, 3) @ B(-4, 0)
@D(\/ﬁ, 2) ® EB, - V7)

B

OA=V12+32=+V10<4
OB=V42+02=14

OC = 4/(-2)2+ (-v5)2 =3 <4
OD = /(V13)2+22 = VIT> 4
OE = /324 (-V7)2 = V16 =4
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(Af2tdl el 1)
T sin © cos tan z
49° 0.66 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0,97
@ 33cm? @ 37cm? 3)45 cm?
@ 72cm? ® 90cm?

~&B

AC = x& 59
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th& 2914 A F D, E
AB=7,AC =6, BC =
Aol

@1 @ 15 @2 @ 2.5

B

ﬁ:ﬁ,C_E:ﬁ olmg
AD + AF = (AB+BD) + (AC + CF
= (AB+BE) + (AC+CE

=AB+ (BE+ CE) + AC
=74+5+6=18
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